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A AMIEX
HM: ol =X BX
e AN P23 =4 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
o 201AH| CCTV A2 = 300,000 = 42D| 1,200
202 04d| 1,600 0 1,600
01 2L HI 1,600 0 1,600
O=2Wod 1,600
oZAE R F& 20,0008 * 80 1,600
206 M 2 H| 16,500 14,100 2,400
01 X2 Hl 16,500 14,100 2,400
O&dHeX 2ef & A2 2L 7,000
o2 20,000& = 150m° 3,000
oAz 10,0002 * 400% 4,000
OIS L 34ZF 22| H27Y 4,500
OZ2RE 228 FANURY
10,0008 » 500& 5,000
401 AlEHIZL 2 0HY| 515,600 62,000 453,600
01 Al&H| 515,600 62,000 453,600
OREASE AX ¥ HE 29 30,000
OZ2233 AN&Es B4 475,600
o202 HH|(148D1)
2,200,000& = 1487] 325,600
oxSd XNAEX AlE 22 150,000
Ost&z 2 2,500,0008 = 422 10,000
405 XHA&HF S HI 1,500 0 1,500
01 XAt =2 F S HI 1,500 0 1,500
ou=J =¢ 400,000& * 37| 1,200
O2d2d =& Uty eI 2
150,000 = 27| 300
ool =X & 8,416,569 7,607,960 808,609
= 2,910,545
= 937,524
Al 4,568,500
ORI =2 X MUl A &ka 5,137,457 4,713,948 423,509
= 2,864,445
== 828,745
Al 1,444,267
ZoeI=X 22 7,150 5,240 1,910
201 Yete | 3,910 2,000 1,910
01 AP 2t 2| H| 3,910 2,000 1,910
OXMCI=X 22 & 424 S M
200,000& = 10H 2,000
OZHUEXIIE 2B HIESH 3,820 « 50024 1,910
202 o4 | 3,240 3,240 0
01 2404l 3,240 3,240 0




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

5 . 4
SA " E () - %Eﬁ 2
OXOH= X (X H)
3,240
HOI =S EX Y EX 600 600 0
201 gBt24y| 600 600 0
01 AP 2t 2| H| 600 600 0
OZofel Xt=xt EX 1,000 = 6000H 600
ORI oY S AL 9,897 9,805 92
307 2iz2to| A 9,897 9,805 92
11T AISIEXAIEEX 9,897 9,805 92
O HMI423] Zofelel 9,897
ZHONQICHAM S AFKI& 12,140 11,820 320
301 et M= 1,500 1,500 0
09 HAIAHIXIE 2 1,500 1,500 0
OOl SHHl A O} 1,500
307 212t0| & 10,640 10,320 320
11 A EXAIEEX 10,640 10,320 320
OHMI263] ZHoKel 4,160
OLST A2ZZO0HQ 3,080
OEHBH Al ZOH QI Ct 1,800
Ost= HHIHES 1,600
ool SXLXel XS 334,882 299,473 35,409
= 167,441
& 33,488
Al 133,953
101 21 214| 334,882 299,473 35,409
= 167,441
& 33,488
Al 133,953
04 JIZtHIZ22XNSE S 334,882 299,473 35,409
OZOHUE X L Xel At 334,882
= 167,441
= 33,488
Al 133,953
ZOjel Bt 2 X2l XA 356,110 338,878 17,232
= 178,055
= 35,611
Al 142,444
101 124 H| 356,110 338,878 17,232
= 178,055
= 35,611
Al 142,444
04 JI2ZtHIZ22NEES 356,110 338,878 17,232
O&Oe HHER 356,110




AN ALEI =X

mE: Fojel =X S

&2 HOHASX MHIA gHat (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 178,055
< 35,611
Al 142,444

ZOHQIAIZERI Xtel X & 110,363 105,060 5,303
= 55,182
< 11,036
Al 44,145

101 @14 dl 110,363 105,060 5,303
= 55,182
< 11,036
Al 44,145

04 JIZHHZ2XREES 110,363 105,060 5,303
OZOHQ AIZFM £ Xtel X 110,363
= 55,182
< 11,036
Al 44,145

A2 ZOH I OHOFAL TIHA 17,450 16,806 644
= 13,960
< 698
Al 2,792

307 21201 A 17,450 16,806 644
= 13,960
< 698
Al 2,792

10 ALSISXAIEEE2GHEX 17,450 16,806 644
OAIZEZO0HOI OFOFAL TIHAH (1) 17,450
= 13,960
< 698
Al 2,792

=g X2(1=x) 170,342 157,814 12,528
= 119,239
< 15,331
Al 35,772

301 LA F 170,342 157,814 12,528
= 119,239
< 15,331
Al 35,772

01 Ml2ZE 6= 170,342 157,814 12,528
OZM==Ix) X 170,342
= 119,239
< 15,331
Al 35,772

Zos=g(ta? S) 221,396 201,964 19,432
= 154,977
< 19,926
Al 46,493

301 LEEAS 221,396 201,964 19,432




2N
X ZH -
L= B

el

Akl = X1 ot
gopel =X sa
ZOHA=SX MHIA &4

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

= 154,977
< 19,926
Al 46,493

01 MEI2BZE 05z 221,396 201,964 19,432
OFM+E XN (&= S) 221,396
= 154,977
< 19,926
Al 46,493

ZoHeIAz XA 1,360,715 1,570,944 A2210,229
= 952,501
< 122,464
Al 285,750

301 LA F 1,360,715 1,570,944 A210,229
= 952,501
< 122,464
Al 285,750

01 Mel28E 6= 1,360,715 1,570,944 A 210,229
O&e o2z 1,360,715
= 952,501
< 122,464
Al 285,750

o EsXNESH X& 1,446,405 1,148,963 297,442
= 994,984
< 90,284
Al 361,137

307 glz2tol & 1,446,405 1,145,857 300,548
= 994,984
< 90,284
Al 361,137

05 RIZIRIE 3 1,446,405 1,145,857 300,548
OZOMe X 1,421,405
= 994,984
< 85,284
Al 341,137
OFe XA FIHALY 25,000
< 5,000
Al 20,000

gsE2x 2N 1,429 6,938 A5,509
= 1,000
< 86
Al 343

307 gl2tol & 1,429 6,938 25,509
= 1,000
< 86
Al 343

05 RIZHRI & 3 1,429 6,938 5,509
OZOMQ EsXH IHes0 1,429
= 1,000




2N
e =X B8

el

X ZH
S =

Akl = X1 ot

TOHOISR MHIA B

SA - BB B () - MM - BES Ol &t o San HmEET

< 86
Al 343

LEMEAEIA BIRH AL 58,320 58,339 A19
= 40,824
< 3,499
Al 13,997

307 glz2tol & 58,320 58,339 A19
= 40,824
< 3,499
Al 13,997

05 RIZIRI & 3 58,320 58,339 A19
OggMae A B At 58,320
= 40,824
< 3,499
Al 13,997

MASEO0He &EH 2 ZAH K& 542 2,330 A 1,788
= 271
< 54
Al 217

307 21201 A 542 2,330 A 1,788
= 271
< 54
Al 217

01 922724l 542 2,330 A 1,788
OMASZOC AEH L HAHl X & 542
= 271
< 54
Al 217

el s4dHE X 3,000 3,000 0
= 2,100
< 180
Al 720

301 EEd = 3,000 3,000 0
= 2,100
< 180
Al 720

01 Ml28HE 6= 3,000 3,000 0
OWdEMe E4tHIE XS 3,000
= 2,100
< 180
Al 720

ZOHAEXDIF K& 3,800 3,800 0
= 3,040
< 152
Al 608

307 glz2tol & 3,800 3,800 0
= 3,040




©OAEI = X
e =X s
CEMYSX MHIA S

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

152
608

01 2= 72l
OFoel =017 XA

= N W

3,800

3,800
3,040
162
608

3,800

ol 2= Hl XA

= N W

40,977
32,782
1,639
6,556

57,806

A 16,829

308 MtXIEHMSOIH

=z N W

40,977
32,782
1,639
6,556

57,806

N 16,829

2
2
ror
o
0z
J
40

~
=
e on

O
0
2
10
I
[==
>
[0

= MW

40,977
40,977

32,782
1,639
6,556

57,806

A 16,829

0
s
e
o
b
0
i
Ho
0
P}
0

= M

28,640

5,728
22,912

26,880

1,760

307 21201 &

H

Al

28,640

5,728
22,912

26,880

1,760

012=4d 7=l

OHls0 2&+ &l A&

O a4 X

H

Al

= M

H

Al

5,600
4,600
920
3,680
1,000
200
800
23,040

23,040

4,608
18,432

4,800

22,080

800

960

Z0HCl BHOAA AUl

14,000

4,000

10,000

401 AIEBIZ 2 THEI

14,000

4,000

10,000

01 A€ dI

OZ0e =SXAIE &3EH

[eZ]
=

OO HoAANL (T SHMRA) AEA

14,000
4,000

10,000

4,000

10,000

oo ot XA

11,434

10,235

1,199

307 glztol &

11,434

10,235

1,199




AN ALEI =X

mE: Fojel =X S

Chel: HOHQI=X MHlA &at (&)
SA - BB B () - MM - BES Ol &t o San HmEET
11T M SRASE EX 11,434 10,235 1,199
OFoel IJt=E XJAAY =& 11,434
A2 QZHAIE 24 HEAY 18,000 20,000 A 2,000
< 5,400
Al 12,600
402 RIZFR201 ™ 18,000 20,000 A2,000
= 5,400
Al 12,600
02 RIZE X2 AL EZ (01X ) 18,000 20,000 A 2,000
OE2AIE &Xdl XA 18,000
< 5,400
Al 12,600
HHMA =R =2 ALY 15,560 11,560 4,000
201 Let24d] 15,560 11,560 4,000
01 At 22l 5,200 5,200 0
OXH Mo =& X+ 2T M= 13,0008 * 400 5,200
02 =224l 2,360 2,360 0
O&HAE2 AIZ&EH |XA2cltl 800
Ofgd2 RodHAIA8 S22
130,000& » 12& 1,560
03 A2 S HI 8,000 4,000 4,000
OZH Mo =X X A M A 8,000
JH Mol =SXS& X3 A 605,570 561,570 44,000
S 435,600
Al 169,970
301 LEHZ 345,600 324,000 21,600
< 345,600
01 MEIE2EZE 406z 345,600 324,000 21,600
OMIMIEHASEI 2t4HEH K& 345,600
< 345,600
307 21201 A 259,970 237,570 22,400
< 90,000
Al 169,970
11T MISAASEEX 259,970 237,570 22,400
OXH M XSl Ae X2 (4H0EHA) 100,000
< 50,000
Al 50,000
ONHMHNHES SEaAS (4HEHH) 80,000
< 40,000
Al 40,000
O LT HAAALN EHBHAIXRR A SAS 15,000
OXHMMXE 98 olsMHEIA HMB(2HEH ) 44,970
OXH=s=sXSE (4HEH) 20,000




2N

X ZH
S =

el

NEEpin
D ROHe =X B
TOHOISR MHIA B

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

D4R NBEIHAS X

=} = o

Y

H

Al

64,

32,
32,

800

400
400

60,000

4,800

H

Al

64,

32,
32,

800

400
400

60,000

4,800

= N

64,
64,

32,
32,

800

800

400
400

60,000

4,800

= M W

44,
22,

4,
17,

115
215
380
520

44,115

307 21201 A

= M W

44,
22,

4,
17,

115
215
380
520

44,115

11 AL S XA

Ok=x 4

g2x

e m

= M W

44,

44,
215
1380
520

22
4
17

115
115

44,115

SLIhOl FABSHUIA K

zZ W

179

125
10

,820
,874
,789
43,

157

179,820

307 glz2tol &

=z W

179
125

,820
874
,789
43,

157

179,820

OgEHMe =A&SAHA XS

= MW

179

179

125
10

,820
,820

874
. 789
43,

157

179,820

= M

3,

136

37,

,912

679

3,099,233

2,886,012

250,900

1,153,265

1,062,462

100,803

1,153,265

1,062,462

100,803

1,122,856
1,033,647

752,
74,

263
996

1,021,913

100,943
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54,428
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563
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563

15,335

H3r
Wikd
RIS

524,543
524,543

40,437

40,437

40,437

80,665

Off &t 24

578,971
578,971

249,130

185,911

2,160
18,535

1,800
17,367
23,357
26,000

108,329
82,628

8,244
1,440
7,693
8,324
13,200

167,112

121,954

2,880
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16,958
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12,616
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41,000
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[ =2 XAl
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10 AtS

o)

30
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80
0H
w(

0
o
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KO

15,335
16,335

80,665
80,665

19,200
76,800
96,000
19,200
76,800
96,000
96,000
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Al
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SN ASETD
M Mojel =X S

il

¢ HoHeIsIAE 22 X (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 19,200
Al 76,800

HI2AMDAE X 77,194 77,412 A218
< 960
Al 76,234

307 glz2tol & 77,194 77,412 A218
= 960
Al 76,234

10 AL SXAIEEE2EH EX 77,194 77,412 A218
OM2INUIANE 2SN 4,800
< 960
Al 3,840
OM2HAUDAIE 2L (1 2AH]) 72,394
=lleg 56,097
cItExd 480
ocHELY 5,592
oANIIEE= 5,044
o EANYSZ 5,181

HOHQEIALXAME 29 46,595 43,887 2,708
< 9,319
Al 37,276

307 gl2tol & 46,595 43,887 2,708
< 9,319
Al 37,276

10 AL SXAIEEE 2 H EX 46,595 43,887 2,708
OHMABJALXNALNEH 29 46,595
< 9,319
Al 37,276

FOHA=SXIAIE JlE 2= 142,200 8,000 134,200
= 46,100
< 71,100
Al 25,000

ZOHAXATHEAIL JIsES 92,200 8,000 84,200
= 46,100
= 46,100

402 DI2HX 20| & 92,200 8,000 84,200
= 46,100
< 46,100

02 RIZt Xt 2 AL EZ (OIS ) 92,200 8,000 84,200
OHHTMHAZZASE JIsEL 92,200
= 46,100
< 46,100

ZOHQRIGAISI THEAE JsE22 50,000 0 50,000
< 25,000
Al 25,000




A AMIEX
Mo mojol =X =A
el ROjQI=XAIL JlE 2E (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
402 SI2FXHE0| M 50,000 0 50,000
== 25,000
Al 25,000
02 CIZEXIE A EX (0| XM THL) 50,000 0 50,000
OEHBHAIZ OIS EEX 2 HE > 50,000
= 25,000
Al 25,000
e & Bx 22X & 15,266,196 13,454,543 1,811,653
= 3,996,280
Fag 687,000
J| 785,563
= 4,417,063
Al 5,380,290
HAEEX AMHIA 23 458,822 463,860 A5,038
J| 73,621
& 170,133
Al 215,068
ZH)gY SR 3,944 3,944 0
201 LBt Y| 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
O4i=Z80e, g€dadIll s 2,000
202 044l 1,944 1,944 0
01 2L Y| 1,944 1,944 0]
OO&=X L2EX
81,000 » 2% x 2¢ 63l 1,944
HAEZ2E0/C0R Jt= A H 9,600 9,600 0
301 dEtE M= 9,600 9,600 0
01 Al B & A 462 9,600 9,600 0
OZ=E0|2X JIE A2
30,000& = 160AICH 23| 9,600
RESHY 2= 304 304 0
301 et A= 304 304 0
01 Al B & A 462 304 304 0
OLRESHY 23 304
o g Al 8,000& » 2 6 96
o II| 24| 30,000& 29 60
o &l 2 H| 74,000 2 148
IR ZdMEA 2EXE 135,036 126,382 8,654
J| 67,518
& 13,504
Al 54,014
307 2Iz2t0| & 135,036 126,382 8,654
J| 67,518




AN ALEI =X

M 08 U 28 =X =X
el HESX MblA 25 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

< 13,504
Al 54,014

10 ALSISXAIEEE2EHEX 135,036 126,382 8,654
OJtEg=g dEga 249 NE 135,036
J| 67,518
< 13,504
Al 54,014

JIE =™ Toi X 2 =dl X 1,000 1,000 0
J| 700
= 90
Al 210

307 21201 A 1,000 1,000 0
J| 700
< 90
Al 210

11T AR SXAIEE = 1,000 1,000 0
ONE =" maix 2=l 1,000
J| 700
< 90
Al 210

NHEEH Dol ¥ s 220 7,718 7,718 0
J| 5,403
< 695
Al 1,620

307 glz2tol & 7,718 7,718 0
J| 5,403
< 695
Al 1,620

11T M SRASEEX 7,718 7,718 0
OXMNE=Y Dol A ¥ g T2y 7,718
J| 5,403
< 695
Al 1,620

HEHASZANLE2G XA 16,820 15,704 1,116
< 3,364
Al 13,456

307 21201 A 16,820 15,704 1,116
= 3,364
Al 13,456

10 ALSISXAIEEE2GHEX 16,820 15,704 1,116
OWEAASTANE 2EXE 16,820
< 3,364
Al 13,456

IFEEHUoAINIIE2AS KA 2,400 2,400 0
< 480
Al 1,920

307 gl2tol & 2,400 2,400 0




t

SN ALSI S X
M d 2 28 =X 52
el HESX MblA 25 cf
SA - BB B () - MM - BES Ol &t o San HmEET
< 480
Al 1,920
11T M SXASEX 2,400 2,400 0
OJXtZ=gIlal /2018 22X A 2,400
= 480
Al 1,920
JEdENL 2HEs SEXR 272,000 273,000 A 1,000
= 152,000
Al 120,000
101 @124l 22,000 23,000 A 1,000
< 22,000
04 D12t 22 HEE = 22,000 23,000 A 1,000
OJIZHZ2=2Xs B 22,000
< 22,000
201 LB-2d| 10,000 10,000 0
< 10,000
01 At 22l 10,000 10,000 0
OzgaxdENd 29,88 S 10,000
< 10,000
301 LA S 240,000 240,000 0
< 120,000
Al 120,000
12 JIEtE4 3 240,000 240,000 0
OzdsExHENHd 2HES S 2 240,000
< 120,000
Al 120,000
Ha ot X3 At 10,000 0 10,000
307 21201 A 10,000 0 10,000
11T AL S XA E X 10,000 0 10,000
ood 1o, 3% At 10,000
Hdo =13 97,940 74,661 23,279
< 5,184
Al 92,756
HAZRSEAl =4 64,660 40,660 24,000
201 Yet2 | 16,000 14,000 2,000
01 At 22l 4,000 4,000 0
Ondasa= EE2EE 4,000
03 &Ar2 I 12,000 10,000 2,000
Oun=l 12,000
SCHAZSEZA =4 2&H W=
1,000,000& * 62l 6,000
SAUEHE A2 uF
1,000,000& =* 62l 6,000
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OetyitE =4 A THEHI 5,000
301 LEPEXF 3,660 3,660 0
09 AL HIXI &3 3,660 3,660 0
OAZEHH 25 XA 3,660
401 AIEHIZL 2CHYI 40,000 20,000 20,000
01 A& Hl 40,000 20,000 20,000
OWAZSEZAl I8 AlE Z=AH| 40,000
A A3 #0244 wWs XA 6,820 6,821 A
301 LEXZ 6,820 6,821 A
09 HALAHIX A S 6,820 6,821 A
OZ& H4Ootatdiol 0 W= 1,200
Od+dd u=s 1,200
O04 NSNS & 1= 1,600
OUMNZE 20FAU= &4 04l 540
OZ¥ ddESUa A Ol 2,280
LYHESIS2EHARAE 29 540 540 0
201 Ler24E] 540 540 0
01 At 22l 540 540 0
OYHBEIZ 28 L HEISHI 4ol9
RAR =Y 70,0003 ~ 6 420
OYHBEIZ 28 L HEISHI o9
3 =9 M 60,000& = 23l 120
ANZ ALSISXAE SAR SX+=2(0d) 25,920 26,640 AT20
< 5,184
Al 20,736
307 gl2tol & 25,920 26,640 AT20
< 5,184
Al 20,736
10 AL SXAIEEE2EHEX 25,920 26,640 AT20
OAlT ASISXIAE SAMX SN2 (0, Ot
3=, U238 25,920
< 5,184
Al 20,736
220t X & 4,552,553 1,969,496 2,583,057
= 219,380
s 687,000
J| 711,942
< 491,337
Al 2,442,894
st X & 9,600 7,800 1,800
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Akl = X1 ot
fd & 25 =X &
A20t8 A

SN HH-S(BN) - MBAY - B il HlnE2
otolE= MEIA X& 313,400 335,847 N22,447
= 219,380
< 18,804
Al 75,216
307 gl2tol & 313,400 335,847 N22,447
2 219,380
< 18,804
Al 75,216
11T AISI S XA E = 313,400 335,847 N22,447
OotolEs MHIA XI& 313,400
2 219,380
< 18,804
Al 75,216
Ct23otE SE5tAY 175,132 164,664 10,468
| 87,566
< 17,514
Al 70,052
307 glz2+0l & 175,132 164,664 10,468
| 87,566
< 17,514
Al 70,052
11 AISI S XA E X 175,132 164,664 10,468
OUZRaIE Y2us N A XN 54,336
| 27,168
< 5,434
Al 21,734
OZE0I2X SHANMEA XA 31,788
| 15,894
< 3,179
Al 12,715
OUZsIEXE Hoge XA 37,658
| 18,829
= 3,766
Al 15,063
OZE0I2A &3 XA 15,500
| 7,750
= 1,550
Al 6,200
OL=E23ItE Mol 22l X & 35,850
| 17,925
< 3,585
Al 14,340
ALUNEUSINSANIMEYH 2 343,820 298, 140 45,680
J| 171,910
< 34,382
Al 137,528
307 21201 A 343,820 298, 140 45,680
J| 171,910




SN ALSI S X
B oy U B8 =21 57
Sl AYINY X2 CREED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o e 2
< 34,382
Al 137,528
10 ALSISXAIEEE2EHEX 343,820 298, 140 45,680
O2dItd UEss NEdH 23 X#H 343,820
J| 171,910
< 34,382
Al 137,528
3NN H2/s 29 400 400 0
201 Let2d] 400 400 0
01 At 22l 400 400 0
OfIa=¢ 70,000 * 4% = 13 280
O8 =9 M= 60,0002 * 23| 120
Ct23totE A X3 8,864 411 3,453
< 800
Al 8,064
307 21201 A 8,864 411 3,453
< 800
Al 8,064
11T MISRASEX 8,864 411 3,453
OUZsIIE 0 SEH0tE A 4,864
OAIAH RISl & A EOt 4,000
< 800
Al 3,200
Ct2stts M4 FHEd Otsus X 11,755 , 760 A5
< 2,351
Al 9,404
307 glz2+ol & 11,755 , 760 A5
< 2,351
Al 9,404
11T M Z2XAIS EX 11,755 , 760 VaNS)
OU=RaINEXNH &23WsE N 11,755
< 2,351
Al 9,404
Ch2shts YR2USXNEA HMAH X2 3,684 ,690 A6
< 737
Al 2,947
307 21201 A 3,684 ,690 A6
< 737
Al 2,947
10 ALSISXAIEEE2IHEX 3,684 ,690 AB
OUZR3IE g2us NZAH LML X 3,684
< 737
Al 2,947
ZE20/2X Hgus X& 9,288 ,024 264




SN ALSI S X
M 08 U 28 =X =X
Sl AL X8 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 9,288 9,024 264
11T M SRASEEX 9,288 9,024 264
OZS0l2A HHus X 9,288
ZE0I8A D2 30,000 37,500 AT,500
307 eIzl & 30,000 37,500 AT,500
11T MISXAS EX 30,000 37,500 A7,500
OZE0I2A et XA 30,000
IFESHEHAE AL HI 2,974,000 626,000 2,348,000
s 687,000
< 343,500
Al 1,943,500
403 UHXISHHE X201 H 2,974,000 626,000 2,348,000
s 687,000
< 343,500
Al 1,943,500
02 SO 2SO0 HEHAHE X 2| &AL H 2,974,000 626,000 2,348,000
ONSHHAE A& 2,974,000
s 687,000
< 343,500
Al 1,943,500
Ct2s)ts 282 20,000 0 20,000
< 4,000
Al 16,000
307 glz2tol & 20,000 0 20,000
< 4,000
Al 16,000
11T M SRASE EX 20,000 0 20,000
OUIshis gdo 20,000
< 4,000
Al 16,000
ZE0I2A &5 HEH XJ MY 2,400 3,800 A 1,400
< 480
Al 1,920
307 21201 A 2,400 3,800 A 1,400
< 480
Al 1,920
11T MISAASEX 2,400 3,800 A 1,400
OZ&0l2UA o5 HEE A 2,400
< 480
Al 1,920
ROt Z2E0=0H4d OOl XA 5,940 3,000 2,940
J| 2,970
< 594
Al 2,376




SN ALSI S X
B oy U B8 =21 57
Sl AL X8 EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
307 glz2tol & 5,940 3,000 2,940
J| 2,970
< 594
Al 2,376
11T M SXASEEX 5,940 3,000 2,940
OOt Z201F0d COIS XJAAE 5,940
J| 2,970
= 594
Al 2,376
Ct2stXtd Z0tot=s MANFI N3 20,000 20,000 0
307 glz2+ol & 20,000 20,000 0
11T MISRASEX 20,000 20,000 0
OU=stid #O0Jt= M A =F=I X3 20,000
B MHA 235 9,954,951 10,405,726 A 450,775
= 3,729,900
= 3,713,909
Al 2,511,142
ALESZHAJAS 29 1,260 1,260 0
201 2et24d] 1,260 1,260 0
01 At 22l 1,260 1,260 0
ONYESHUAS Hasgy
70,0003 » 99 « 23] 1,260
ESANESAML nEXH 19,000 19,000 0
201 Let2d] 1,000 1,000 0
01 At 22l 1,000 1,000 0
OESANE SAA A5l A& 1,000
301 LA F 18,000 18,000 0
09 SALEHIX A S 18,000 18,000 0
OBSAE SAX E=1= 4,000
OESANE BSAR A3 A 12,000
OZ& Heold stotsStal AL 4 2,000
ES ML & =& 3,888 7,452 A 3,564
202 O4dl 3,888 7,452 A 3,564
01 = LH 4 Hi 3,888 7,452 N 3,564
OZRrotE2s® g2 =2 1,944
Ools=X g2 =¥ 1,944
ESANE HASE 0t A& 45,189 50,772 25,583
< 13,294
Al 31,895
307 21201 A 45,189 50,772 A5,583
< 13,294
Al 31,895




AN ALEI =X
g 0d ¥ 25 =X 58
A2

el B AMHA 25 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 45,189 50,772 A5,583
ONMASE Ot ooy gstEHIZ N 2,625
= 525
Al 2,100
OMASE B85 BR2RE=2 s N 42,564
< 12,769
Al 29,795
BEAL 2Y4+E B4 X8 86,800 87,400 A600
= 7,760
Al 79,040
307 gl2tol & 86,800 87,400 A 600
< 7,760
Al 79,040
10 AL SXNAIEEE2EHEX 86,800 87,400 A 600
ONg ol Wterdl X 10,000
< 2,000
Al 8,000
OE2XNA Hold wHu-Hl X 13,700
< 2,740
Al 10,960
OZS3EUHE0E HAR 12dd XA 15,100
< 3,020
Al 12,080
od8xoeold 2494 N& 48,000
ESANE BAX AL XA 346,492 276,960 69,532
< 43,808
Al 302,684
307 21201 A 346,492 276,960 69,532
< 43,808
Al 302,684
10 AL SXNAIEEE2EHEX 346,492 276,960 69,532
OZFR0IXNE HEold EESWA MM AH 21,600
< 4,320
Al 17,280
O0gold B HE L (228Y) 42,400
< 8,480
Al 33,920
Ogoteg EFWA EE€E 23,040
< 4,608
Al 18,432
Ooogold 2xe1y dXxtel XA 132,000
< 26,400
Al 105,600
OgIt DFEAHEOIE HAR o2dH X2 30,000
O0Eold EsnA 252 XA 57,600
ozt Jt80elold EX8g=s X3
55,350% * 60F * 12& 39,852




= _ — d =
CHB - E(BH) - MM - B 0l &t o il Bl RE2
oelord Xia 59,000 75,000 A 16,000
= 29,500
< 14,750
Al 14,750
307 gl2tol & 59,000 75,000 A 16,000
= 29,500
< 14,750
Al 14,750
10 AL SXAIEEE2EH EX 59,000 75,000 A 16,000
OQ2ZtHeold wiHw=dl XI& 6,200
= 3,100
< 1,550
Al 1,550
oxgadgdl XN& 47,400
= 23,700
< 11,850
Al 11,850
OsHEaM aoeod X 5,400
= 2,700
< 1,350
Al 1,350
EKUAHA A8 XA 3,162,278 3,170,624 A 8,346
= 1,581,139
< 790,569
Al 790,570
307 glz2+ol & 3,162,278 3,170,624 N 8,346
= 1,581,139
< 790,569
Al 790,570
10 ALSISXAIEEE2GHEX 3,162,278 3,170,624 A 8,346
O&F2 Heold A8 X& 2,693,724
= 1,346,862
= 673,431
Al 673,431
oOgotdgx& 468,554
= 234,277
< 117,138
Al 117,139
s & 366,474 662,600 A 296,126
= 238,208
< 64,133
Al 64,133
301 LPEXZ 366,474 662,600 A 296,126
= 238,208
< 64,133
Al 64,133
01 MEIBEE 2063 366,474 662,600 A 296,126
oijgegs=4g A& 366,474
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82,000
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20,500

80,

060

1,940

SELNHY HRME XA

= N W

873,442
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218,360
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66,538

307 212t0l &

= W

873,442
436,721
218,360
218,361

806,

904

66,538

= M H = MW

= H W

873,442

453,806
226,903
113,451
113,452
222,952
111,476
55,738
55,738
130,036
65,018
32,509
32,509
66,648
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66,538




A AMIEX
By ol W B =X =&
e BESAHHA 23 (2 &HH)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
= 33,324
& 16,662
Al 16,662
Sl E=22 2,475,595 2,440,478 35,117
= 2,106,595
Al 369,000
307 2Iz2t0| & 2,475,595 2,440,478 35,117
= 2,106,595
Al 369,000
10 M SXAANEEHESIGHEX 2,475,595 2,440,478 35,117
OFceHd B2=x2 K& 2,106,595
2,106,595
Oty EE€gsdH N 369,000
22 2LUHEH 29 N 1,256 1,500 N 244
=2 628
= 188
Al 440
301 et M= 1,256 1,500 N 244
= 628
o=t 188
Al 440
09 HAIAHI X & 2 1,256 1,500 N 244
OF2 PUHEY 24 N&E 1,256
= 628
= 188
Al 440
el old s2tAaldl NI 166,200 181,200 A 15,000
307 2iz2to| A 166,200 181,200 A 15,000
10 MM SAANEEHESIGHEX 166,200 181,200 A 15,000
ONelold 32tad X 166,200
el old 2 A=sH X 16,296 16,296 0
307 QI2t0| ™ 16,296 16,296 0
10 MM SAANEEHESIHEX 16,296 16,296 0
Ogols &4tz AsHl A 16,296
AZHR ESAHHIA XS ALY 48,000 45,880 2,120
= 24,000
o= 7,200
Al 16,800
307 212t0| & 48,000 45,880 2,120
= 24,000
o= 7,200
Al 16,800
10 M SXAEEHESIHEX 48,000 45,880 2,120
OAZHM E=AHA XEAIE 48,000
= 24,000
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OHEXNY 272

= M
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10,560

13,200

SFAE JIE 2=

= N H
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47,000
36,500
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540,800

A 338,870

30,000

12,000

18,000

30,000

12,000

18,000

30,000
30,000

12,000

18,000

ool Jisez

= N W

120,000
47,000
36,500
36,500

367,900

A 247,900

401 AIEHIZ 2 I

= N W

90,000
45,000
22,500
22,500

235,000

A 145,000

01 A& HI

Ooelold JIsed(He=)

= MW

90,000

90,000
45,000
22,500
22,500

235,000

A 145,000

402 QI2tXt=01 ™

oW

30,000

2,000
14,000

132,900

A 102,900
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X{ XH -
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NEE
G4 Y 2T =X
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ool BRAIL I8 1S EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 14,000
02 U EALEZ(0IETHR) 30,000 132,900 A 102,900
ol RAE=+ 26,000
< 13,000
Al 13,000
OOEold JisEZ A (&Hldl) 4,000
= 2,000
< 1,000
Al 1,000
SEOUE0E g2 d X 42,000 160,000 A 118,000
402 QI2H X201 M 42,000 160,000 A 118,000
01 2IZE 2 A B (KM ) 42,000 160,000 A 118,000
O3 0d &2l K& (19HA) 42,000
e old UL &X 9,930 900 9,030
201 B2l 9,930 900 9,030
02 2324l 9,930 900 9,030
O0eold XU Iz
50,0003 * 54 * 120HE 3,000
ONEold XtEg GPS AMHEZ
38,500& = 18K = 100K & 6,930
ots=XE&H 9,004,843 4,863,911 4,140,932
= 2,430,920
J| 133,577
< 2,874,428
Al 3,565,918
Ots =Xl MblA Z3st 6,088,208 2,390,355 3,697,853
= 1,694,992
J| 43,215
= 2,470,378
Al 1,879,623
ors?lds 249 1,730 2,280 A 550
201 ¢4l 1,730 2,280 A 550
01 At 22l 1,730 2,280 A 550
OOS=X AAAs P+ 490
OotsfId(8gosl) =Id+Y 1,120
OS&3 39 Mzl &2 M 120
Oelolg J1g8 &AL 33,000 33,000 0
201 Let24E] 3,000 3,000 0
01 At 22l 3,000 3,000 0
ONgold JISdAL 83LR=E 3,000
307 21201 A 30,000 30,000 0
11T MISRASEEX 30,000 30,000 0
O0eolg J1g & At 30,000




AN ALEI =X
3 ois=Asd

o2l Ots=X MBlA 23 (=& J)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
IFIERASE0Es =X 234,000 156,000 78,000
301 getEd 3 234,000 156,000 78,000
01 Ml2ZE 6= 234,000 156,000 78,000
OJtZfElls XA
300,000& = 659 » 123 234,000
YAINE AE0Es delXzs NFAY 2,200 2,200 0
J| 1,540
< 132
Al 528
301 LENZ 2,200 2,200 0
| 1,540
< 132
Al 528
01 MI2ZE 6= 2,200 2,200 0
Oog & JIE/AEOs delxlzg XA 2,200
| 1,540
< 132
Al 528
QA0ls L 39,600 47,091 AT, 491
| 27,720
= 2,376
Al 9,504
301 LEEAZ 39,600 47,091 AT, 491
| 27,720
= 2,376
Al 9,504
01 MEIBZE 05z 39,600 47,091 AT, 491
oggots 24 X 39,600
J| 27,720
< 2,376
Al 9,504
FoLeols 23 N 17,236 8,162 9,074
| 12,065
< 1,034
Al 4,137
301 LENZ 17,236 8,162 9,074
| 12,065
< 1,034
Al 4,137
01 MEIBEE 253 17,236 8,162 9,074
O Lols s L =H XN 17,236
| 12,065
< 1,034
Al 4,137
gadE Nd 2,700 2,700 0
| 1,890




AN ALEI =X
3 ois=Asd

e OS2 X MHA 25 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

= 162
Al 648

301 et A =2 2,700 2,700 0
J| 1,890
&< 162
Al 648

01 Al E & A 462 2,700 2,700 0
ogddlE K& 2,700
J| 1,890
& 162
Al 648

ler=st2 A& 3,000 5,000 A 2,000
= 1,500
Al 1,500

301 et M= 3,000 5,000 A 2,000
& 1,500
Al 1,500

01 M EXEE 252 3,000 5,000 A 2,000
Ogs=s5=2 AA 3,000
&< 1,500
Al 1,500

B30l MEotd X& 84,880 113,010 A 28,130
== 16,976
Al 67,904

301 LBt A= 84,880 113,010 A 28,130
= 16,976
Al 67,904

01 AR E & A 452 84,880 113,010 A 28,130
OBS0ls MaEotd I& 84,880
= 16,976
Al 67,904

BSES0ENE LA 93,600 57,600 36,000
= 74,880
& 3,744
Al 14,976

301 2EtE A =2 93,600 57,600 36,000
= 74,880
& 3,744
Al 14,976

01 Al B & A 46 2 93,600 57,600 36,000
OEBsE=s0ls MNE=ZXA 93,600
= 74,880
== 3,744
Al 14,976

OlS USRI AHZH(COA) DHE X&2 130,218 58, 156 72,062
= 91,153
= 7,813
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SEPNE=E DNl | 4,000
osdIRANEFEA 99,000& * 123 1,188
S ZEIDICIORXI2el (=eheIIl)
60,000& * 123 720
o EH Ol X=X 22| 150,000& » 12& 1,800
o X&EE &I 1,000,000 * 2CH 2,000
o XtE = Al 200,000& = 12& 2,400
cNEXNEE 100,000 * 69! 600
o AL E 3| 300,000& * 13 300
o3lHESEH 360,000& = 13l 360
CcHHEZNBANES 792,000& * 13 792
OZZNH2GHI(S2AIL 2L 28 5) 10,000
gazysruesoy 29 e 114,280 111,633 2,647
308 MtXIEHMSOIH 114,280 111,633 2,647
11 3J2SoHUHSEH4EAE ALS HI 114,280 111,633 2,647
Ol 74,465
oEHAEXZAH(GS 12~1358) 54,516
-Jl2s 31,626
- A 40,000 » 128 480
- A 130,000& * 12& 1,560
- WS=2 x| 130,000& * 123 1,560
- g&E=xd 3,156
- 32+ 2,630
- Z2U2RE 5,888
-4HEE = 4,198
- B XXESs 3,418
o & A E X & AH(BHXI X & AL) 16,147
- A 40,0003 » 128 480




AR RPN
HM: MAad B U

=
ool HAULRAL

a4 22 (el &™)
SA - BB B () - MM - BES Ol &t o San HmEET
- EE 40,000& = 12& 480
- Ws 2| 120,000& » 12& 1,440
- FESE 1,521
-d2=E 1,934
- EZ2RE 4,443
-4AHEE R 3,270
- B ARES 2,579
oYX 60,000 = 1% = 47 2,820
o =L b 81,800&  12¢ 982
o223l 29,815
= J|Et==EH| 283,000& = 12& 3,396
ocHFIIANES 26,0003 = 128 » 204 624
SANEEAL=EE 120,000& * 62l 720
o W= &Il 250,000& » 29H 500
o S AL & Xt 165,000& » 12& 1,980
o2 oA EA 198,000& * 128 2,376
o ANEE M A I XY 42,9004 = 123 515
oclIItEMUA = 132,000& * 128 1,584
°o=E 2| 500,000& * 13 500
o dSEH | 300,000& = 13l 300
oMY RIHY 110,000& » 12& 1,320
oMot ERS 40,000& = 123 480
oclIIR3 1,000,000& * 12& 12,000
oHEDICINRAI2el (=ele)
30,000& = 12& 360
cNEXNEE 100,000& = 221 = 13| 200
o=&EHAIZE 3l 300,000& * 13 300
oM TUZTHAI A 2| 660,000& = 13l 660
o AN&ERXE 2,000
OZZHS2IHI(S2MSINREH &)
2,000,000& = 53| 10,000
S3EAE HAEX A BHX 77,256 77,904 A 648
J| 38,628
Al 38,628
308 XX EHSOIA 77,256 77,904 A 648
J| 38,628
Al 38,628
113/ 2SoHUHSZAEEALS I 77,256 77,904 A 648
OFALHSEAE HAEXS A BRI X & (3Y) 77,256
J| 38,628
Al 38,628
HAE Fad 4 857,859 814,149 43,710
= 12,100
J| 226,597
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2AM: M=KD
Hm: HAW 25 Y 84
ool A HAW =4 (SHol: @)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 675
Al 3,125
HAaGE g5 09tdiol 89 174,512 172,322 2,190
Dl 87,256
Al 87,256
308 AXISHXMSOIH 174,512 172,322 2,190
Jl 87,256
Al 87,256
11 2I|2SHUSHEAAERAE A S| 174,512 172,322 2,190
O&A4E 2 ts 0oFtdiol 29 22| 174,512
Dl 87,256
Al 87,256
Had B L A ES 4,009 4,009 0
201 LBt Y| 3,009 3,009 0
01 At 22l ] 3,009 3,009 0
OBAEE2S E22 KA 1,0008 * 1,00004 1,000
OH2HEZ L2H2 HN L WS
6,7002 * 2100} 1,407
OBAE SEPL S8 AL
8,0008 * 7% » 23] 112
OCYS-Net S U3 &AM AT
70,000& = 798 * 13 490
301 dEtEX = 1,000 1,000 0
12 JIEtE &2 1,000 1,000 0
OFA4E Rolztd MDNEIAZ 1,000
HAEMESIHH 29 22 178,829 167,149 11,680
308 AXISHXSOoIH 178,829 167,149 11,680
11 2I|2SHUSHEAERAE A S| 178,829 167,149 11,680
(@)Fal] 147,438
oJ|IE2Z3 (MEHZE 1252)
2,948,200 = 10& 29,482
cll22(HdEHHE 1352) 3,008,7008 * 2& 6,018
cJIE22(EHE 1082) 2,550,700 = 38 7,653
cJl22(EE 11ee) 2,601,100& = 9& 23,410
cll2Z2(ddR 352) 1,892,300& = 9& 17,031
cl|l22 (™A 45 2) 1,930,600& = 3& 5,792
o HWAEF Y| 8,436,550 * 120% 10,124
o £EH(HEHZE 125 2) 265,330 102 2,654
oL (HMEZE 13582) 270,780 = 2& 542
o g AlH| 140,000 = 128 = 39 5,040
ol SHl 120,000 = 128 * 3H 4,320
oclIE44¢ 140,000& = 12&€ 1,680
o XA E 30,000& + 38 « 12& 1,080




AN ALEI =X

Hm: HAW 25 Y 84
ool AA HAE |4 GEERED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
oxXIUZ2LE(HHE)
20,4403 = 30AI2t * 42 D] 2,453
CEDDLLY(HI)
15,510& * 30Al 2t = 42 D] 1,862
oxN2RLY(SEX HLH)
16,3403 x 30AlI2t = 18] 491
oEANIAR G 60,000& * 48 2,880
cE/NMEZ 10,083
oZ2XLOE 400,000 * 3 * 13 1,200
c4EBEII2AREE 2 1,136,905& = 12& 13,643
O A HI 2,400
o FASH| 1,000,000& * 13 1,000
o EE ASHI 1,400,000& = 13 1,400
O AR 22| 8] 9,648
S AFRD| D1 TH 154,000& = 12&€ 1,848
od4£I|Y U 80,0008 * 12& 960
o 3| 9| H| 160,000& * 4= 0| 640
o J|Et&dH| 800,000& * 42| 3,200
SYNF=R=PN ] 3,000
O332gHtl 18,143
oQIHURZ 120,000& = 12& 1,440
o MD|otM 2te| CH & 88,0008 * 12& 1,056
ocRolAHIESHAH 99,000& * 12& 1,188
olMIIR=2 750,000 = 128 9,000
ol-eigtatelyl 82,500& * 42| 330
o =T Al 50,000& * 123] 600
o Mot XA AH| 75,000 * 13 75
= Reip-ils]] 400,000 * 13| 400
oMol EE I HI 30,000& = 18 = 7H 210
o =MH Ol Xl 22/dl 77,000& « 12& 924
o X} &FH| 1,840,000& = 13 1,840
oAN&EAF 90,000& ~ 13 « 12& 1,080
O=&H| 300,000& = 40| 1,200
HAEONMGY R=H 104,170 102,990 1,180
Jl 52,085
Al 52,085
308 AXISHXMSOIHA 104,170 102,990 1,180
Jl 52,085
Al 52,085
11 2I|2SHUSHEAERAE AL 104,170 102,990 1,180
OfadtMA D= 104,170
J| 52,085
Al 52,085




AN ALEI =X

Hm: HAW 25 Y 84
el AE HAW B4 (el:de)
SN EHD B (3H) - MEAY - BAS Ol &F 04 ﬁlgﬁ HDZ2
HAYW SEHA} T2 29 33,084 44,490 A 11,406
Il 16,542
Al 16,542
308 XAHXIEHSOIA 33,084 44,490 A 11,406
Jl 16,542
Al 16,542
1122 SUHUSHEAEAE A Y| 33,084 44 490 A 11,406
OFAYE SEHA T2 29 33,084
J| 16,542
Al 16,542
st g HAE X 91,019 90,037 982
J| 63,714
Al 27,305
308 XNXIGHSO0l& 91,019 90,037 982
Il 63,714
Al 27,305
11 BI2SHUSEANRE AIS Y 91,019 90,037 982
Ostn g #3443 XNdH &9 91,019
J| 63,714
Al 27,305
st 9 AW XA (SAH) 5,200 5,200 0
J| 2,600
Al 2,600
308 AMXISHMSOIA 5,200 5,200 0
J| 2,600
Al 2,600
11 ZBI2SUHUSHEAEAE AT Y| 5,200 5,200 0
Osty g 344 g4 & 5,200
J| 2,600
Al 2,600
HAUE 242 X 19,200 15,300 3,900
= 9,600
o=t 1,920
Al 7,680
301 et A =2 19,200 15,300 3,900
= 9,600
= 1,920
Al 7,680
01 Al B & A 462 19,200 15,300 3,900
OMAEE HEFEAE BHRAMESE XS 19,200
= 9,600
o= 1,920
Al 7,680
HAW AL XA (RH) 228,960 193,776 35,184
301 dEtE M= 228,960 193,776 35,184




AN ALEI =X

B HAd 95 2 8Y
€ A8 34AE |4 (&)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
01 MI2EZE+06l= 228,960 193,776 35,184
OWdEad 2 UXNEIIENHE BEARANUES
A& 12,0003 = 1,590F * 12043 228,960
HY2HHH (ME =X ) 911,660 792,037 119,623
= 276,179
= 37,056
Al 598,425
eI 2 877,568 759,445 118,123
= 276,179
= 37,056
Al 564,333
IARHH(SSA & S&EE) 240,375 231,238 9,137
101 @124l 240,375 231,238 9,137
03 SR (RIAHY)2Z2NE S 240,375 231,238 9,137
OZRA U ABE ANLB2 22X 22(A
HARA2) 240,375
=lleg 110,355
55 = 2,039,269% * 198 « 128 24,472
652 2,068,037& * 1H » 123 24,817
208 = 2,520,228% + 198 « 128 30,243
-25 3 2,568,558% « 1H » 123 30,823
ocdIZxd 5,206
553 2,039,269 * 20% * 75% * 23l 612
653 2,068,037 * 25% * 75% * 23l 776
205 2,520,2283 * 50% * 75% * 23l 1,891
2253 2,568,558 * 50% * 75% * 23| 1,927
cEESIHHI 11,038
55 = 2,039,269& = 60% * 23| 2,448
65 = 2,068,037& * 60% » 23 2,482
208 2,520,228& = 60% * 23| 3,025
225 = 2,568,558% * 60% * 23l 3,083
cXtRaEFIGt=E 8,727
553 109,272& * 18 1,967
652 110,880 * 18 1,996
2083 131,320& * 18 2,364
-225 3 133,304 * 18 2,400
o A 2H2l =G 21,817
55 = 20,4883 * 20AI2t 128 4,918
653 20,790& = 20A12t = 128 4,990
208 = 24,6223 * 20AI2b « 12& 5,910
-23 3 24,9953 * 20AI2t = 128 5,999
ocx52dI2RY 43,632
55 = 163,907& = 5& = 128 9,835




2N

Akl = X1 ot

Ha: HY2HAH|(ALSI =2 X D)
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
65 = 166,322& = 52 x 128 9,980
208 = 196,979& * 5 * 128 11,819
2= 199,962& * 5L x 128 11,998
ocEfUIRLY 100,0008 = 4% * 12& 4,800
oMAXHALE 150,000 * 4% « 128 7,200
o8¢ 100,0008 = 49 * 12& 4,800
o M FAY| 140,000& * 4% = 128 6,720
o JIAH B X4l 80,000 » 4¥H x 128 3,840
o X Q4G 110,0008 = 4% * 12& 5,280
ogdaH 100,000 * 4% « 128 4,800
clIExEH 180,000 * 12& 2,160
CIHASAY|(EHAEIE) 178,220 184,540 N6,320
= 94,400
= 7,080
Al 76,740
101 124 H] 178,220 184,540 N6,320
= 94,400
= 7,080
Al 76,740
03 22X (RIHEY) 22X E 178,220 184,540 N6,320
OEEAEIE Ol SE At 22l AF O A (& &
A2l 118,000
ollza 97,600
= 78,080
= 5,856
Al 13,664
o A2t =% 14,400
2 11,520
== 864
Al 2,016
oE|AAMEZ 6,000
= 4,800
= 360
Al 840
OCEZEAEE OtsESeAtdl &2l A 21 HHl AlYl
FI2(s&ALRH) 60,220
oldZzZx¢H 5,840
ocHIKRaIEIILEH 1,500,000& = 4H 6,000
ocEfUIRLY 50,000& * 49 x 12& 2,400
o A A LG 150,0008 = 4% * 12€ 7,200
o8¢ 90,000& * 4% x 12& 4,320
o Mo FAY| 140,000 * 49 = 128 6,720
o JIH B X4l 80,000 x 4¥  12&€ 3,840
o X Q4G 110,0008 = 4% * 12& 5,280
cIIE4¢ 120,000& = 2% = 128 2,880




2AM: A=K
M HNSHAAH| (AL =X )

(=}
=]
=

r

Q0

& o 2d| (9 ® =)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o ZEFOHI 9,740
o EXNMES 6,000
lA2IH(XHotSHE OtS =X WA 364,018 335,802 28,216
= 130,739
< 26,148
Al 207,131
101 1A dl 364,018 335,802 28,216
= 130,739
< 26,148
Al 207,131
03 SR (RIAHY)2Z2NES 364,018 335,802 28,216
OOts =Rl WA 21 2A4H| 261,478
=Jl2g 230,206
= 115,103
< 23,021
Al 92,082
cEZ BB 31.272
= 15,636
= 3,127
Al 12,509
OOtsS =Xl WA Q1A HI (& A AlH]) 102,540
o Z A GAH| 140,000& = 12F = 1201 & 20,160
oM AT+ H 93,750& * 128 = 120HE 13,500
oDl 93,750 * 12% * 12013 13,500
ocXEd 68,7503 * 129 = 124 & 9,900
CIIExd 120,000& = 12F = 1201 & 17,280
o ZEFOHI 750,000& = 129 « 23| 18,000
oc¥dI2d 200,000& = 12H « 23| 4,800
CHIIRSFIINTE 450,000& = 12 5,400
olA2YHI (OS2 8ged 29 X&) 94,955 7,865 87,090
= 51,040
< 3,828
Al 40,087
101 @124 dl 94,955 7,865 87,090
= 51,040
< 3,828
Al 40,087
03 SR (RIHY)22HE S 94,955 7,865 87,090
O0lsEs dEA 23 63,800
=lleg 58,800
= 47,040
< 3,528
Al 8,232
o EASH 5,000
= 4,000
< 300




2AM: A=K
M HNSHAAH| (AL =X )

(=}
=]
=

r

Q0

& o 2d| (cho &)
SA-EB .Y (BH) - ABAY - B2 o AF o San H D2
Al 700
O0lsEs Y3 A (AlH]) 31,155
o ZHZAH| 140,000& *»2H 1201 & 3,360
oY 150,000 & *2H 1204 & 3,600
cItE G 120,000& *»2H 1201 & 2,880
ocX Y 110, 000& *2H 120 & 2,640
ofE Y 90,0003 *2H 1201 & 2,160
o JtAHIE &= bl 80,000& x2H x12JH & 1,920
ocExNIERY 50,0003 *2H 1201 & 1,200
o MBI EXNERLE 30,000& *x2H 1200 & 720
cHIR=EIITY 120,000& 2 x 15 3,600
ocdIZLYE 868, 7003 x2Y x23| 3,475
o HAESF Y| 1,400,000 x2H *23| 5,600
Jl22Z bl 34,092 32,592 1,500
Jl23Hl 34,092 32,592 1,500
201 et A | 26,712 26,712 0
01 AFR2 2t 2l Yl 21,912 21,912 0
OfME2g JI=238tl 256,000& = 12& 3,072
OS A gz 220,000& = 128 2,640
OANEREE IFU(BAMA S) 160,000 = 12& 1,920
O AN AR2E 2
300,000& * 7CH = 23] 4,200
O= &l 8,000 * 21 = 52 x 12& 10,080
02 3524t 4,800 4,800 0
osEea 400,000& = 12& 4,800
202 04| 1,680 1,680 0
01 2LHOHI 1,680 1,680 0
Oblaz2 2 2o Yl 1,680
203 AR E= Yl 5,700 4,200 1,500
04 2SI L RF=AH| 5,700 4,200 1,500
OFRAEYE HRF=AY| 475,000& * 12& 5,700




